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3. (40pts.) wo day balls are suspended from strings of lengtlas shown in the
figure. Theball on the left has masg, and is held at an initial angle 6€° from the
vertical. Theball on the right has mass, and is held at an initial angle 8% from the
vertical. Theballs are released from rest (first and therm,) such that theg collide and
stick together at the bottom and remain at rest.

a. (10pts.) For each fundamental physics principle that you use, explain very briefly
what principle you are using and wit is valid to use it.

b. (20 pts.) What is the ratie:%?



Phys 131 01 Name: __SocuT(on Test 2 Page 3

3. (40 pts.) Two clay balls are suspended from strings of length L as shown in the
figure. The ball on the left has mass m; and is held at an initial angle of 60° from the
vertical. The ball on the right has mass m, and is held at an initial angle of 30° from the
vertical. The balls are released from rest (first m; and then m,) such that they collide and
stick together at the bottom and remain at rest.

a. (10 pts.) For each fundamental physics principle that you use, explain very briefly
what principle you are using and why it is valid to use it.
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b. (30 pts.) What is the ratio
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3. (40 pts.) Two clay balls are suspended from strings of length L as shown in the
figure. The ball on the left has mass m; and is held at an initial angle of 60° from the
vertical. The ball on the right has mass m, and is held at an initial angle of 30° from the
vertical. The balls are released from rest (first m; and then m,) such that they collide and
stick together at the bottom and remain at rest.

a. (10 pts.) For each fundamental physics principle that you use, explain very briefly
what principle you are using and why it is valid to use it.
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